€] Po4

NAME

PYTHAGOREAN DIVISION MEET 4 FEBRUARY 5, 2015

Directions: Place your answer to each question below in the answer column.

D189 L s be. Findthevalue of | | in simplest form e [© -

=aa- Ddc. r'm € value o 1n s1mples =

b od T 3 g R PR g
x+24.

2) A potato weighs 6 ounces plus 1%, ofits weight. The potato weighs Ibs.

3) The average of » numbers is 32. The average of 9 of those numbers is 26.
The average of the remaining numbers is
a) Z4 b) mgmt ) e d) Fge
4) Circle O is inscribed in square ABCD.
E, F, G and H are midpoints of the.
sides of square ABCD. Square EFGH'
is thus formed. The area of the shaded
region is 16(m - 2) sq.in. The
perimeter of square ABCD is
in.

5 277.9%
— .
a)a*-1 b) 6a*—~1 c)6a*-1 d)Sa’>-1 e)3a*-1

6) The probability that it will rain tomorrow is x. The probability it will not rain
tomorrow is y. The value of the expression 7x* + 14xy + 7y* - 1 is
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The answer to each question is in parentheses at the beginning of each solution.
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(32)
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(6)

x 4

x 4

3 7

‘The 6 ounces is }sof its weight. The potato weighs 6 x 195 = 32 ounces = 2 Ibs.

(Algebraically, +=4% )

16

The sum of the » numbers is,327." The sum of the remammg n - 9 numbers is
32n - (9)(26) = 32n- 234, The average of these n«- 491 ﬁ pmibers is 328-24

If the area of the shaded region is, 16(7t.s 2,), ke area of the circle must be
16m and the area of the inner sgu@‘@FGH) must be 32. The radius of
circle Ois 4" and a mde.g@lp?ﬁre ABCD is 8". The perimeter of square
ABCD is 32"

a a? 3\a? (22 a® 3a* 24 3a+2a? Sa? )
27 9% @) @) 3T 3 3 s
3 .3 3 3 3

P(rain) =x; P(norain)=1-x=y x+y=1.
T+ lxy+ Ty -1=T(x+y)?-1=7-1=6.



